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  QUESTION 301Which two statements about disjoint Layer 2 networks are true? (Choose two.) A.    Ethernet Switching mode

must be end-host mode.B.    Overlapping vlans are supported.C.    Each vNIC can communicate with all the disjoint Layer 2

networks.D.    Symmetrical configuration is recommended for high availability.E.    Default VLAN 1 can be configured explicitly on

an Uplink Ethernet Port or Port ChannelF.    Appliance port cannot be configured with the same VLAN as Uplink Ethernet Port or

Port Channel. Answer: AD QUESTION 302Drag and Drop Question  
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   QUESTION 305Drag and Drop Question  

   Answer:   

   QUESTION 306OTV is a MAC-in-IP method that extends Layer 2 connectivity across a transport network infrastructure. Which

three options are high-availability features? (Choose three.) A.    OTV fast convergenceB.    fast failure detectionC.    added the

track-adjacency-nexthop command to enable overlay route trackingD.    added support for unicast cores using an adjacency serverE. 

  added support for IPv6 unicast forwarding and multicast flooding across the OTV overlay Answer: ABC QUESTION 307Which

three statements about FabricPath are true? (Choose three.) A.    Only FabricPath VLANs can cross a FabricPath domain.B.    A

vPC+ peer link can be formed out of F1 or F2 ports only.C.    With FabricPath, vPC must be changed to vPC+.D.    F1 ports must be

placed into a separate VDCs.E.    A vPC+ peer link can be formed out of F2 ports only. Answer: ABC QUESTION 308Refer to the

exhibit. What is the purpose of this command on the Cisco Nexus 7000 switch?   A.  

 The command enables conversational learning on FabricPath VLANs 1 through 10 for the F Series module.B.    The command

enables the FabricPath protocol on VLANs 1 through 10.C.    There is no need for this command because conversational learning is

enabled by default for all VLANs.D.    The command enables conversational learning on a classic Ethernet VLAN for the F Series

module.  Answer: D QUESTION 309Refer to the exhibit. Which three statements describe the use of the vPC peer link in this

topology? (Choose three.)  

 A.    The peer link is used for synchronizing MAC addresses between SW1 and SW2.B.    The peer link is used for control plane

traffic only.C.    The peer link provides necessary transport for multicast traffic.D.    The peer link is used for the communication of

orphaned ports.E.    The peer link does not prevents the loops in the topology.F.    The peer link always consists of two 10GB ports

in a port-channel.  Answer: ACD QUESTION 310What is the default vPC peer-keepalive timeout on the Cisco Nexus 7000 Series

switch? A.    5 secondsB.    256 millisecondsC.    500 millisecondsD.    1 second Answer: A   Braindump2go Promises All our

customers: 100% All Exams Pass Or Full Money Back! Our experts have complied the fail proof 350-080 Exam content to help all

candidates pass your 350-080 certification exam easily in the first attempt and score the top possible grades too.Do you want to

sucess? Come to Braindump2go and our experts team will tell you what you need to do! 350-080 Exam Dumps Full Version

Download:   
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